8, The moximum value of strain

L. The neatval axas ol o Tbeam
at  the oulermaost

in  concrete

Al abwavs passes throuph the web ;
{ of n':i- t':le*.\m ' compression fibre in the limit state
. ¥ Ha IS-fI."( :2“00 iﬂ
(B) always  passes  through  the design ns pe 0
Ranse ot the Deane (A) 00002
C) o oalways passes through  the
ST " (B) 0-0005

junction of Nange and web
(D) abwavs passes through (C) 00035
anywhere in the section
(D) 0-00953

2. As per 18450 : 2000, the maximum

number of steps in flight of a i : is D

staircase should be restricted to 6. If the diameter of a rivet body 15(:1 i
then the diameter of its pan head 18

(A) 10

(B) 12 (A} 1-4D- c{?

(C) 14 (B) 25D <

(D) 16
(C) 16D

3. In an isolated reinforced column (D) 2D

footing of effective depth d, the
stress in  punching shear is

checked 7. The effective length of fillet weld is
(A) at the centre of the column A i1 heo 1d si
. total len -2 xweld size

(B) at a distance d from the face A &

of the column (B) total length—weld size
C) at a dist 2d fi the f
(C) istance rom ace (©) total length

of the column :

—2 x throat thickness

(D) at a distance d/2 from the face
of the column’ (D) total length - throat thickness
4. As per [S-456:2000, the highest

value of s/d ratio can be found in 8. The moment of inertia of a

rectangular section 4em % 6cm

case of
Ly (A) continuous slab spanning in About its:NA is o ¥
7 one direction (A) 24 cm™ “ e
P o vt TR B 36 cm* >
~ [©) cantilever slab (C) 144 cm* (g
(D)4 simply.suppo d sle (D) 72 em® :

\./1"'1



10.

11.

G supported beam or
N LY i\ ) i
A v arries aniformly distyy

t'“th
h 3 “‘ Y tnl

1 KN/m over the o t."‘d
i

“* " X
:\“1 ,.:" ;‘zw value  of muxir:]:l:'
-}J:‘:m. moment wWill be :
bt
@ 6 KNmE
(R 12 kN-m
) 26 kKN-m
o) 5 k-

A member with cross-section 4 mp,2
i-‘-“ .Sub_jwred to a !Oﬁd '1 N, If s
veneth is 10 m and Young S modulys
::n:h /mm-=, the linear strain wij be

(€) Emmjmm
(D) %mm/mm

The Euler’'s formula used for

calculating buckling load in a
column will not be valid if the

slenderness ratio is less than

(A) 160
(B) 120+
(C) 100 .
(D) so

13,

14,

15.

Gauge presasure is re Surt
qll ﬂ-ﬁ-
A ic pres?
(A} atmospher i 'ﬂl,ﬁnh:l"
ire sul’f
(B) atmospheric presst s
- _ vacuum P
ré
(C) absolute pressure prcssu
- atmospheri€
(D) None of the above
rium will

A body in neutral equilib
Fotate aboyt its

of
(A.} centre of gmvit}' and C'Cﬂtl‘c

buo:,*ancy

(B) centre of gravity and metas
centre

(C) centre of pressure and metas
centre

(D) centre of gravity, metacentre
and centre of buoyancy -

A rectangular Section will be most
when the ratio of its

€conomical
depth of flow and width of bottom is
Ay 1:4

(B) 2:1-

C) 1:2

(D) 4:1

A strut is g member which

(A) connects two points-

(B) is subjected to compressive load
predominantly

(C} is subjected to shear force

predominantly

(D) is subjected to bending moment
and shear force along with any

axial force

[ P.T.O.
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¥

{0

e number of reaction componenta

svamie at hinge on raller su pport is
Al G
B I
i 2
(Y 3

e point of contraflexure, which

-
L ma

of =e following statements is

(2} stper CEgssge

(Bl amueducs

(C  lewel crossing

(L) sickeon azgueduct.

The m—imimums elongation of high-
ST=ngrh deformed  bsr of grade
Fel30 z3 per [S: 13920-2016 is

(A} I3-3%
(B 2Z3-3%
(C 22-5%;

(O] 14353

A cantilever beam of length 20 m

cartiea udl @ 2-0 kN/m. The SF at
its fixed end is

A& G

(El 2 N

22‘.

2}5.

ey

An carthquake
should have

(A)

'rr:aiatam

olur,
(C) weak beam and Strong Colurn
n
(D) strong beam and weak Colum

beam should ngt be within
(A) a Joint
(B) 2 quarter of th
e len
. I gth of the

(C) a distance twice the diameter of

the bar from the face of the
column

(D) Al of the above

The fineness of cement can be testeq

by

(A) air content method

(B) air permeability method-
(C) water content method
(D) Vicat apparatus

Efflorescence of bricks is due to

(A) high porosity of bricks

(B) high water absorption of bricks
(C) soluble salt present in bricks.
(D) overburning of bricks

The window provided on the sloping
roof of a building is called as

(A) slope window
(B} bay window
(C) dormer window-

(D) gable window



_26. which one of the following ll‘bnlmem

27

"I‘
ML s Tl T

sequences s followed to Prepare
potable water from turbid surface
water?

(A) Turbid surface water—
Congulntion-—Scdimcntntion—_
Flocculation—Filtration—pijg.
infection—Storage and supply

(B) Turbid surface water—Coagula-
tion—Filtration—Sedimenta-
tion—Flocculation—Disinfec-
tion—Storage and supply-

(C) Turbid surface water—Coagula-
tion—Flocculation—Sedimenta-

. tion—Filtration—Disinfection—
Storage and supplys

(D) Turbid surface water—Coagula-
tion—Flocculation—Sedimenta-
tion—Disinfection—Filtration—
Storage and supply

Consider the following activities in a
building construction :

I. Concreting of roof slab

II. Cement slurry over roof slab
III. Placing of reinforcement

IV. Centering and shuttering

The correct sequence of the

activities is

(A) I—I—II—IV-
(B) IHMI—I—I—IV
(C) IV—III—I—II~

(D) HI—I—IV—I

fzﬂ-.

30'

R

A frame has O
The frame is #

e 15
(A) redundant fram i
(B) deficit frame¢ &

(C) perfect frame”
(D) None of the above

. P I :
Match List—I with Llst—""I
List—] List— 3
n
Heoke's law: - 1. Strc'SS a
strain
Bending 2. Euler’s
moment formu}g
Bending stress 3. Moment of
resistance
Column and 4, Sagging and
strut hoggmg

Choose the correct option.

P Q R S

A 3 4 2 1
(B) 4 2 1 3
e L 4 3  2-
(D) 3 1 4 2

An experiment was done on orifice.
The values of coefficient of
contraction (C,) and coefficient of
velocity (C,) were reported as 06
and 09 respectively. The value of
coefficient of discharge (Cy) will be

(A) 054-
(B) 062
(C) 067
(D) 096

[ P.T.O.
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31.

:;’;2.

Direct shear teat is mainly uned to
determine the value of

(A)  cohesion and specilic FEravity of
soil
(B) angle of internal friction and
permeability of soil
(C) cohesion and compaction of soil
i
(D) cohesion and angle of internal

friction of soil ¢

The plate load test in field is mainly
used to determine the

(A) ultimate bearing capacity of soil
(B) ultimate shear strength of soil
(C) net shear strength of soil

(D) condition of soil structure

337 Standard Proctor test is used in soil

mechanics laboratory to determine
the

(A) minimum moisture content and
minimum dry density

,[B} optimum moisture content and
maximum dry density.

(C) optimum moisture content and
minimum dry density

(D) optimum effect at optimum

moisture content

As per BIS, the maximum Los
Angeles abrasion value of stone
apgregate is

(A) 60%
(B} 50%
(C) 40%-*

‘30 _ o)

BT The void ratio of o piven aorl] Mnas iy
tefined nn the ratio of

(A) the tatal

valume of volds to )

valume of soil man% -

& - tetal
volume of voids 1o th &

weipht of soil manas

(B)

-

; lume of
volume of voids to the VO

solids in soil mmass ,
i €
iela to the weight

(C)

volume of vo
goil maas

(D)

: e ia
If the void ratio of a aoil sampl

0'5, its porosity will be

&

(A) S0% .2 y &
(B) 33:33%" o’ U7 %ﬁ/’
(C) 6667% - - >

(D) 48:33%

'3’1{ In a laboratory test of CE:I'Tallrt';
soil sample, the volumes of ligqui

limit (W) and plastic limit (Ws) azc
found to be 25% and 12.4:
respectively. The value of plasticity
index will be

(A] 13%- .,‘.?V. ’:'.‘ i
o %)

(B} 37% ”%

(C} 18-5%

(D) 30%

38, The coefficient of permeability of a
soil sample is 4 x 107 cm/s for a
certain pore fluid. If the viscosity of
the pore fluid is reduced to half,
then the coefficient of permeability

will be
(A) 2x107° em/s
(B) 16x=107° cm/s

8x 1075 cm/s
4x107° em/s

(C)
(D)



39. +The phenomenon when

-

P

the

]

loses 1tz shear  strength d“cm::l
0

oscillatory motion s known as

hiquefaction

(A)
(8) quicksand .
(C) plastic sand-

407" Inclined grain size distribution Clrve

a

42,

EJ/DPW/I/25/4/46-B

shows
(4) nA&ITOW-range grain sizes

(B) wide-range grain sizes

(C) uniform Erain sizes .

(D) certain range of missing graif

s12€s

Per capita water demand is measured
in litres per '
(A) hour

(B)
(€

day K wn

month

(D) year

Light-reflecting devices used to
guide the driver along the proper

alignment are called

(A) delineators

(B)
(C)

reflectors -
rumble strips

(D) litter bins

A

8

lly s
43. As per IRC, Inn:;:l",f;h;; L adic™!

the maximum
(A) 2%

(B) 3%

(C) 5%

(D) 10%-

d paverﬂeﬂt

Th
?/ise

best example of rigl

(A) gravel road

(B) concrete road *
(C) WBM road

(D) bituminous road

Out of the following tests, which on¢
is carried out to know the resistance
of flow of the given bituminous

material?

(A) Penetration
(B) Viscosity=
(C) Softening point

(D) Duectility

Gradual introduction of super-

elevation is facilitated by the
introduction of a
(A) reverse curve
(B) compound curve
(C) =zig-zag curve
(D) transition curve “
[ P.T.O.




4{?-.' According 1o TRE Ja-1ong,  the
‘ width of pavement or carringeway o
double lane without kerb in equnl o
(A) 40 m
(B) 55 m
(¢ 7O m:-

-

(D) 75 m

48. Out of the following, which on¢ is
&
not used as o congulant for
treatment of water?

(A) Nitrogen dioxide
(B) Ferric chloride
(C) Ferrous sulphate -

(D) Aluminium sulphate

The thickness of rapid sand filter for
water treatment is

(A) 15 cm-19 cm
(B) 20 cm-39 cm
(C) 55 cm-59 cm

(D) 60 em-75 cm,

)0./ The permissible pH value for public
water supply plant is

{A) 3:5-5'5
(B) 56-65
(C) 66-85"

(D) 86-10-5

EJ/DPW/I1/25/4/46-B

B,

7

5}(

High done ol nlum incrensct
(A)  ncidity in water

(1Y)  haordness in walter

(C) enrbonate in waler

(D) sulphate in water

BOD is an indirect measure of
(A) dissolved solids

(B) volatile acid content

(C) organic matter -

(D) non-organic matter

The coliform organism in 100 mL of
drinking water should not be morc
than

(A) 1°
(B) 100
(C) 250

: (D) S00

54.

The backsight reading on the floor of
a tunnel is 1'5 m and the foresight
reading taken on an inverted stafl
from the ceiling of the tunnel is
2:5 m. The height of the tunnel is

(A) 10 m
Gem
B) 15 m s =
-
(C) 25 m >
(D) 40 m



Srne sUIVENing, in which o
534 ;‘,iﬁ;;:;::,. in taken into I-‘.f.':;i?;:I:::;';;,;;f BES N hofonth e 0o %
8.5 ' :’rlr"nl' the € ritie y .- d !
(A) traversing called / '
) plane sSurveying (A) bearing 3 2 /
(B) true bearing? A’q

(€) geodetic surveying » .
(C) magnetic bearing 4

(D) reciprocal surveying
(D) declination
th_ﬂ

§9. At the equator of th¢

. “The magnetic bearing of the Sun at
amount of dip is

noon is observed as 178°

. . - Then th
magnetic bearing of g line Ap iz A) 0°"
observed to be 72°40'. The true =

bearing of the line AB ig (B) 180°
(A) 70°40r (C) 270°
(B) 74°40'« (D) None of the above
° ] M 3d
(C): 73%0 60: The following data were Obti’l‘;’nit
e while conducting the liquid p
(D) 68°40 .. 1imit?
test. What will be the plastic
Numberof | 8 20 25 32 45
5/ The temporary adjustments of gz blows
theodolite include Water 70 | 652 | 568 | 51-6 | 458
content (%)
1. setting of theodolite over the
station (The plastic index of the soil is 26°8)
[I. levelling up of telescope - (A) 19% -~ (B) 384%
III. elimination of parallax (C) 25% (D) 30%
IV. adjustment of axis of telescope
parallel to line of collimation . Presence of excess silica in brick
. earth results in
Choose the correct option.
' (A) loss of cohesion
(A) I and II only . . -
(B) enhancing the impermeability
(B) I and IV only of bricks
(C) L II and IV _ (C) cracking and warping of bricks
(D) developing crack and warp on
(D) I, I and III s e
[ P.T.O.




‘pn.

63,

ulone in

Natvial  bed o
sy ahonld be

e

(A) - Kept pavallel o the Jond lines

(1) Kept 5" 1o a5 4, the lond line

(C) Kept normal o the lon line.

(D) irreapective of the lond linew

Radinl splits of timber
from bark nngl
the pith are

originating
narrowing townrds
known ng

(A heart shakes
(B) cup shnkeg
(C) star shakesg«
(D) knots

When cement jq tested for setting
time, on Bauging it shows quick
setting. This Phenomenon known as
flash set of cement is due to the
presence of high

L. tricalcium aluminate (C3A) in

cement .

II.  alkalis in cement

III. tricalcium silicate (C38) in
cement

Choose the correct option.

(A) I, II and I

(B) I and II only-

(C) U and 11 only

(D) I and III only

EJ/DPW/II/25/4/46-B

10

fjj!:

(ﬁﬁ.

113
The fineneus modulun and n Ing of

line gl beanr

(A)  no relationship -

(1) direct exponentinl :I“f-']““"”"ﬂlip,
(C)  direct relntionship «

(D) inverae relationship »

In sieve nnalysis test r_-.f a  soj]
sample, the surmmation af

cumulative % of soil retained in each

sieve is found to be 300. The
fineness modulus (FM) of the sample
will be
|«
A) 30 -~ “
(A) 5 ﬁ‘
(B) 32-
(C) 03~
(D) 003~
The standard cube mould size for

compressive strength test for cement
is

(A) 100 mm x 100 mm x 100 mm =~
(B) 150mm x ]50 mm x 150 mm -
(C) 706 mm x 70-6 mm x 70-6 mm -
(D) 70mm x 70 mm x 70 mim .

. flﬁ/ The most commonly used admixture

which prolongs the setting and
hardening time of concrete is

(A)  gypsum .

(B) calcidm chloride
(C) sodium silicate
(D) fly ash



@9-/ The n-..aximum % of water absorpti
by \\'{:_l[ghl of first-class brickg l:.P;rhmn
kept 1IN Water for 24 hourg i; -

(A) 10%
(B) 15%
(¢} 20% .
(D) 25%

70, Which of the following instruments
is not used in setting pe i
rpendi

line to a chain Jjpep war

{A) Optical Square
(B) Cross-stafr
(C) Prism square
(D) Folding stafrs
3‘;§,
71. Which of the fo]lowing instruments
is used for measuring area of any
figure?
(A) Odometer
(B) Clinometer
(C) Planimeter «
(D) None of the above
76.

When a brick is cut off lengthwise,
the cutoff part is called

'?.

(A) queen closure.
(B) king closure ’é
(C) bat

(D) corbel

11

EJ/DPW/11/25/4 146-B

7§/Thc standard welb

metre Fe 450 is

(A) 2850 kg
(B) 5850 kg
(C) 7850 kg*
(D) 8850 kg

suré

7?/ Pitot tube is used to me?
it

ta pﬂl

(A)

discharge of liquid 2

i
(B) velocity of liquid at & P@

nt

-

' t.d
(C) energy of liquid at a poif

int
(D) pressure of liquid at & point

In case of a rectangular channel of
width 1-5 m and depth 1:0 m, the
value of wetted perimeter is

(A) 35 m
(B) 4:0 m.«
{C) 50 m
(D) 15 m
The capacity

of a bathtub

is

1100 L. If its length and breadth are
2:0 m and 10 m, the water depth in

the tub will be

(A) 035 m
(B) 045 m
(C) 0-50 m
(D) 055 m

[B

.T.O.




I wi
; repafcd Whe,,
77. The continuity equation of flyig MNow ‘B/L( A reviged estimate i pimﬂ"" in “knly

: : L ioned ot
derala with the law of conscervation of initially gmncl:unmc ro the change i,

to } ceeded du s by
A} mass. mn::n't:; quantities or RS
(H) energy (A) 2-5%
(C} momentum (B) 59%-
(D) force (C) 7-5%
(D) 10%-

y For turbulent flow, the Reynolds’

nurmber should be mere than rthwork in

&2‘ In  specification of es g
foundation trenches, r , ,

A) 3000 - -
% the normal lead is specified as

(F2) 4000.

(A) 120 m
C) 2000
(C) (B) 90 m
() 5000 (C) 60 m
(D) 30 m-
?./ AADT e
bricks
(A)  total traffic in a da 83, The number of modular :
4 / required per m> of brickwork is
(£2)  total traffic of o month /28, 29
or 70 | ®) 350
(C)  total traffic of a year/365 or 366+ () soo-
. (C) 450
(D) total traffic of o month/
(365 or 366) = 24 (D} 400
BO. ‘The yrade compensation that can 84 While  submitting tender,  the

contractor is required to deposit
some amount as guarantee of the
tender which is known as

be provided for BG track at a 4%
curvature will be

A) 0-12%, (A) earnest money *

(2} O-08%, (B)’ caution money

(C)  O-20%, . (C) bank guarantee

(ry 096% - (D) security deposit
FJ/DIW/I1/25/4 /468 sada ey 12

5 e B e s s




BE.

Thf" {'I'I"”(“lll l}u[l' Moveg "ll)np the
nclivitien |'Hl\'i|'||: the totn) Noat 4

(A)  Positive
(B) nepgntive
(C) zero

(D) one

86.. The intensity of jrrigntion Mmenns
b

o3

88"

/0w 11/

(A) percentape of CCA o be

irrigated .,
percentage of mean CCA to be

(B) per
irripgated

(C) percentage  of GCA  to be

irrigatec

(D) percentnge  or NCA  to be

irrignted

If the duty is 1200 ha/cumee and
120 daya for an

base  period s
the deltn i

irrignted  crop, then

metre is
(A) 10 L a
(B) 001 .a.-"hm

(C) 0-864»

(D) 144

: Sullnpe menns

-[A] wantewater from toilets

(B) drminnge water from rondside

drains
(C) indusatrinl disposal

(D) wastewater from bathrooma

89.

92,

I
Cowl in pmw‘rlrf mﬂk
nrﬂl"' ."nl';

(A) for ornnf

yof

(13) for quick dist )
l' & L

to ,nrcw:n! cl dﬂl,rr:‘

(C) "
vent entry

(D) to pre
of
t
for epl®
The gas responsible
ozone layer is
(A) COy'
(B) NO,
(C) CFC
(D) NH;
i the
In  hydrostatics, which of

following statements is false?

Hydrostatic equations are valid

(A)

for uniform flow,
(B} Pressure is in all directions.
(C) Normal stress is exactly equal

to pressure. s

(D) Shear stress is always zero.s

Original cost of a property minus
depreciation is known as

(A} obsolete value
(B) saleable value
(C) salvage value

(D) book value -

[ P.T.O.
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p

9.

9%.

~ BJ/DPW/il/25/4/46

; ool
dropraph s a plo
A hydor

(A) precipitation va, time
f

{l‘, st ream
fime

flow or discharge va,

rainfall va, time

(€)
(D) runofl vs. time

Flow irrigation is also known as
(A) sprinkler irrigation

(B) gravity irrigation.

(C) pumped irrigation

(D) well irrigation

The property of fresh concrete, in
which water in the concrete tends
to rise to the surface while it is
vibrated, is known as

(A) bleeding.-
(B) curing
(C) surface tension

(D) capillaxy action

As per IS-456 : 2000, the maximum
area of reinforcement provided in
tension zone of a beam shall not
exceed (b= width, d = effective depth

07.
p

99

1g0:

and D= overall depth of the beaV

(A) 0-4bd

(B) 0-4bD
(C) 004bD *
(D) 0-04bd

An poy 185156 ; 2000, the nh.'mh,-,
ratio of rectongulonr column in A

(A) lenn thnn 12
(D) prenter than 19 .
(C)  lens than 24

(D) preater than 24

Nearly how many bags of ceme,

are there in one cubic metre o

cement?

(A) 32 oA 9
L '_'pj "

(B) 30- % &

(C) 28 @

(D) 31

In  simply Supported beam, tp,

effective span should be least the
distance between the centre-t,.
centre of the supports plus

(A)  half of the effective depth of the
beam +

(B)  half of the width of the beam?
(C) width of the beam
(D) effective depth of the beam +

In RcCcC beam, the minimum
distance between two parallel main
reinforcement bars shall be

(A) less than the size of the coarse
aggregates

(B) greater than the maximum size
of the coarse aggregates =

(C) 10 mm greater  than the
minimum size of the coarse
aggregates

(D) 5 mm greater than the
maximum size of the coarse
aggregates



